Nalanda Open University
Annual Examination - 2019
B.Com (Honours), Part-I

Paper-I (Financial Accounting)
(Standard Calculator is Allowed)

Time: 3.00 Hrs. Full Marks: 80

Answer any Five questions. All questions carry equal marks. Standard Calculator Allowed
f=gl dfer gl & SR dRTY | T gl & 3jcb T T |
What entries will be passesd in the books of Land lord under different condition?
=T qemall § —warl &1 g&idl ¥ did—a Al ufdftcar o SrRi?
Show Journal Entries in the books of Head Office to incorporate the trial balance of branch.

& BRI B YDl H ARG & doluc DI FAMICT PR & [ B S arell
S @ wfafteat ST |

Define Share and Debenture and draw distinction between the two.

I TG KUY B GRS ST dAT 41 & a9 3R BT |

What do you mean by hire-purchase system? How does it differ from instalment system?

fPRIIT—pd UGHT | MMUBT T AR 57 fhe—q T g | I8 fbd geR =
g?

Explain the decision in Garner Vs Murray case. Is this decision followed in India?

MR g9 #R ol @1 arear SISy | r g9 H197g &l wRd # 1R b Sirar
g7

The position of a businessman, who does not keep his books as per double entry system, was
as under on 1st January, 2015 :

1 SHEY), 2015 & U AR & R ST ey o9 Jonell & S9R GRId 7181
Gdr g, [ 9aR o :
Cash in hand 800, Cash at Bank 6000, Stock 6000, Debtors 4000, Furniture 500 and Creditors

7000.
His position was as under on 31st December, 2015 :

31 feawR, 2015 @1 9@ Refa =1 yerR o :

Cash in hand 400, Cast at Bank 3000, Stock 5000, Debtors 5000, Furniture 400, Creditors
6000.

On 2nd January, 2015 he withdrew 7,500 from the business and out of this he spent 6,500 on
purchase of Motor Truck for business .

After taking into consideration the following, ascertain profit of the trader for the year 2015
and prepare Balance Sheet as at 31.12.2015 :

I 2 SR, 2015 DI Fadd H ¥ 7,500 Fblel 3R g0 I 6,500 SH FaAI B

o1y A ¢ wWRiew # w9 fhy |
=1 @7 fdaR § o9 & 918 2015 99 & folg AU BT o Al DIIT 3IR
31.12.2015 P IHH! g 918 -

(a) Depreciation on Furniture and Motor Truck 10%.
(BTER T HIeX ¢ WR B 10%)

(b)  Write off 120 for bad debts.
(120 Sgd Fv1 & fog smfalRad #IRTY )

(c) Create a provision @ 5% for bad and doubtful debts.

(gad dorm dfee ol & oY SR TR 5% WATGE SIS )

P.T.O.



‘A’ owed certain patent rights. He granted a license to ‘B’ to use such rights on royalty basis.
The following are the relevant particulars:

‘A D U BB Ucc B AUPR 2 | FMUPR Yob P AER W I ‘B Bl g4
IR & TANT BT e a1 | W faxer P ¥

Year Minimum Rent Rs. Royalty Earned Rs.
(ad) (RgAaH T o) (31T JHfIPR Yowb o)
1 1,750 1,500
2 2,000 1,800
3 2,250 1,900
4 2,500 2,750
5 2,500 2,600

The deficiency of any year is to be recouped against the excess payable within the next two
years. Give Journal entries and prepare short-working account in the books of ‘B’

el a¥ & HH BT 3T aT I D ™R AR F G a1 &1 FHhar 8 | ‘B’ @)
Q] H Sl Hl Afftedl SISy dor oy Rl @il TR BIfsiy |

Kamal Brothers of Kanpur have their branch at Lucknow and they charge all goods sent to
branch at cost plus 25%. It is arranged that all cash received by the branch is to be deposited
in their Bank Account at Allahabad Bank, Lucknow. All branch expenses are to be paid by the
Head Office.

From the following information, prepare branch account in the head office books for the year
ending 31st December, 2015.

BIGR & DA TG DI UGN TGS § § AR I ARG DI ol T FH ATl BT G
AT SIS 25% TR WA & | I8 ga=el © b IRl g§RT Ui 0ok b SolTeldre

IPB, TGS H SHd Wi H OF fhar Sar § | IRGT & 9 T YU BRI gRT

CURIERCAGRCI I

fFe=feTRad aeTell | 31 fa@w R, 2015 1 FAT B dlel ay & oy verre sy

@ QAP H IRIT @Il I8 |

Rs.

Stock at Branch on 1st Jan., 2015 (1 ST9aXI, 2015 BT TET BT i) 90,000
Goods Sent to Branch (3TRaT &1 ATl HolT) 6,00,000
Cash Sales (@& faw) 4,50,000
Credit Sales (S¥R fasa) 3,25,000
Cash received from Debtors (@RI H U AH<S) 1,50,000
Goods returned by branch (IMET g§RT AT GlCTAT T30 1,50,000
Sales Return ([asha aru=d)) 15,000
Discount and allowances to Customers (UT8d| &I BT) 7,000
Bad Debts (39T 301 3,000
Branch Rent, Taxes & Rates (JT@T &1 @a—hMT, B IR ) 24,000
Other Expenses (370 <J3) 36,000
Branch Debtors on 1st Jan, 2015 (JTRaT <R 01.01.2015) 75,000
Branch Debtors on 31st Dec., 2015 (a1 TSR 31 12.2015) 2,25,000
Stock at Branch on 31st Dec., 2015 (31 fa¥ R, 2015 &I ¥MAT &1 wfdb) | 1,11,000

On 31 December, 2012 the Balance Sheet of A, B & C who were sharing profit and loss in

proportion to their capitals stood as follows:

31 fA=R 2012 BT A, B & C SI U1 Yol & AU H AH—2I H ARERI &R o, Bl

anfeies fergr sirifehd o |



10.

Balance Sheet

Liabilites (&TR1@) |  Amount Rs. Assets (FFRTRI) Amount Rs.
(YpH o) ( ¥PH ®o)
Capitals (gSiT) -~ | Land & Building (% Td ¥q) 50,000
A 45,000 Machinery (A7) 30,000
B 30,000 Stock (1) 9,000
C 15,000 Debtors (GTER) 9,800
Reserve (Ha9) 6,000 Cash at Bank (& # %) 8,000
Creditors (cFGR) 10,800
1,06,800 1,06,800

On that date B retired and the following readjustments were made in the value of assets before
ascertainment of the amount payable to B.
Land & Building was appreciated by 10%
Machinery was depreciated by 5%
Provision for doubtful debts was made at 5% of debtors
Goodwill of the entire firm was valued at Rs. 18,000
B’s Share of goodwill was adjusted into the Capital Accounts of A and C who decided to
share profit and loss in the ratio of 3:1 after B’s retirement. B’s liability, if any, was
transferred to his Loan A/c

Prepare partners’ capital A/cs, P&L adjustment A/c and Balance Sheet of A & C as on
1% January, 2013.
I A IR B 3fGah1el T80T IRl & | B &I QI IBH B UM 9 Y4 GHRET & Jodl H
FrfeRaa FARISTAN @7 T
A IR 999 & I H 10% BT gfg DI T |
79 & g W 5% BT BICT AT |
SIER WR 5% Wy ko & forg grae fbar T |
BH & T BT Jedidd 18,000 To W fHaT 731 | B & 2 @ =fd &1 | 3R C &
goll ¥ orafeiRad & &1 i gam, S B @ @SR UV & 91§ 31 @ Iuid A
-8 & fAaRer &1 9 &xa § | B &7 T, Ife Pls B, SAD R QAT H
WIFTIRT $R fedr T |
ARl & Yol WAl, AM—8IN FHRIS T el 01 SHa’] 2013 &I A 3R C &1

anfeie fergr aerd |

Write notes on any two of the following:

Freifha | @ fb=gl a1 wR fewoh ffau:

(a) Preferential creditors (tljﬁ‘a_cﬁl'\’ éw)

(b) Statement of affairs (ﬁ@lﬁf ﬁ?R'UT)

(c) Receipt & Payment account (& Tq YIrdard )
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29/5/2019 | Honours Paper-1 8 to 1l am Nalanda Open University, Patna
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Nalanda Open University
Annual Examination - 2019
B.Com (Honours), Part-I
Paper-II (Auditing)
Time: 3.00 Hrs. Full Marks: 80
Answer any Five questions. All questions carry equal marks.

fr=gl dfa uedl & SR SIRTT | F491 U1 & 3fh 99 © |
1. Describe the objectives, advantages and limitations of auditing.
JFBHETT & IULII, AT Ud IS BT g HIRTT |
2. What is verification? How does it differ from valuation?

FAAUA T 87 i 9 I8 ¥ yabR =1 272

3. What is internal check ? How does it differ from internal audit ?

JIRP S T 8 ? JRP fdeor I I8 fhg yopR =1 2 ?

4. What do you understand by continuous audit? Explain its merits and demerits.

XA JADBET AT TTe], ADBETT I AT FT AHS 67 9D YUI—aINI bl ARAT B |

5. What do you mean by divisible profit? What are the duties of an auditor in this regard?
Explain.
TS AT W MUBT R I B2 59 HeY H UP IfbeTd & T B of ARAT HITY |

6.  What is secret reserve? How is it created? Explain the duties of an auditor in respect of secret
reserve.
T 699 T 57 gAB AT {59 IeR B S 27 39 dey H idhed & Hadi DI
ARAT DINTY |

7. What is vouching? Throw light on its importance.
THTOT T 87 9D Hed UR YN SIfery |

8.  Describe the duties of a company auditor.

Uh HYA] JPeTh B HIAl Bl o I |

9. Write note on any Two of the following :
feferfad & 9 fo=gl &7 wR fewoft forfy
(a) Routine Checking (@ Sifd)
(b) Continuous Audit (T 3fHeToT)
(c) Audit Programme (3(eToT STish)

10. What do you mean by audit programme? Describe its merits and demerits.

JDHETIT PHIRHH H JATYBT T IAMURT 87 $HD [U—aINT BT i BT |

oS



Nalanda Open University
Annual Examination - 2019
B.Com (Honours), Part-I

Paper-I, Business Organization (Subsidiary)
Time: 3.00 Hrs. Full Marks: 80
Answer any Five questions. All questions carry equal marks.

fr=gl dfa uedl & SR SAIRTT | F91 U241 & 3 9 © |

1. Define organization. How does it differ from management?

e Y aRYeT T | yey I I8 fh9 R = 27

2. Define Joint Stock Company and describe its characteristics.

GYad Gofl aTell DOl BT GRATT DI | Gl $eb! fARIwdrali &1 qoiF BT |

3. Discuss the scientific management theory of Taylor.

CoR & deie yee Ragid @l fad==r wifste |

4.  What is Articles of Association? Describe its contents or subject matter.

FAIH T 2° $AD! [AvI—a% &I IoF B |

5. What do you mean by multiple shops? Describe its characteristics.

IEHEID GhAI A AUDBT T JWIRT &7 D] [IRTAAT BT qu HITOTT |

6.  Describe the fundamental principles of scientific management.

Jeli~ep  Yeel & AERYA RIglAl b1 g By |
7. What is combination? Explain the causes of combination.

TS T & ? GIATST & BRI Bl IRAT HIOTT |

8. Define partnership and describe its characteristics.
ARIERT &1 gRATST IRTY TT $H@T ATl &1 9o BITY |

9.  What is meant by departmental store? What are its features? Throw light on the merits and
demerits of department store. .
fouria weR &1 @1 3 2?7 sHd! a1 faRyarg 87 fa9ri WeR & ui—aryl W UdIeT
SIS I

10. What do you mean by optimum size of a business unit? Describe the factors affecting the size
of a business unit.

P FEaaTRIe SHIs & AJHeldd IMBR A ATURT T AU 57 [HdAT ATATRIG ShTS
® AMHR BT YT B dlel HRDI BT IO DY |
BoSeE




Nalanda Open University
Annual Examination - 2019
B.Com (Honours), Part-I

Paper-II, Principles of Economics (Subsidiary)
Time: 3.00 Hrs. Full Marks: 80
Answer any Five questions. All questions carry equal marks.

fregl dfa uedl @ SR SAIRTT | 9491 U241 & 3fh T © |

1. Discuss critically the definition of economics given by Marshall.

AT gRT < TRY J1ARA BT URYUTNT Bl ATATIATHD fddaT DHIFTT |

2. Explain the Law of demand. What are its exceptions?

AT & 99 & AR HINT | 39S - F Tare g ?

3. What is market? Explain different classifications of market.

IR R 2 ? IR & fAfa= afiaxol & IRAT HIfIU |

4. What is mixed economy? What are its features? Describe the merits and demerits of mixed
economy.

i3 srefegaeen @1 87 s fawwa @ 27 fAfd siefegqeen & Ui-—<INl b1 quiA
P |

5. What is modern theory of rent? Is it an improvement over Ricardian theory?

T BT MY Rigid o1 2 ? a1 I8 Rprsi & NGId & IW T GoIR © 2

6.  What is mean by monopoly? How price is determined under it?

THTADBR BT T A 8?7 b J<Id o BT FERT {Hd JHR BT &7

7. Explain the marginal productivity theory of wages.
oYl & A IcATaehdl Rigid B R HIY |

8.  Explain the law of diminishing marginal utility and throw light on its assumptions and
exceptions.

A STARTET g 99 &1 IRem ST 9ol $9d! AT=IdRll Ud 7Udral IR GBI
STfery |

9.  Discuss the risk and uncertainty bearing theory of profit.

I & SIRIA Ud IfR¥=adr agq Rigid &1 fad==T S |

10. Write note on any two of the following.

fereferiad # & fb=si a1 uR fewoll forfay |

(a) (Want and demand) JTILIHAT AR ART

(b) (Real Wages & monetary Wages) CIESIEED j:lx_rli\?[ g Hifed HGI?;\ST
(c) (Liquidity Preference) TReTdT Uq=<Iil

oS



Time: 3.00 Hrs.

Nalanda Open University
Annual Examination - 2019

B.Com (Honours), Part-II

Paper-III (Specialised Accounting)

Full Marks: 80
Answer any Five questions. All questions carry equal marks.
fep=gl dfer gel & SR AT | | g2l & 3jb A € |

(Standard Calculator is Allowed)

What do you mean by statement of affairs? How does it differ from Balance sheet?
ReIfey fqa=or & smuet @1 ifiumg 57 onféfes forgr 9 I8 6y R = &7
What is meant by absorption? Describe its objectives. How does it differ from amalgamation?
HAfaera &1 @ ek 2° sHD Wl BT 9 BT | gaiaRer I8 B9 yeR e 27
Under what circumstances a Company is liquidated? Describe the role of a liquidator in the
event of liquidation.
b ufRRIfCl § Sul &1 FHUF 81 ST 87 |AUA I <21 A FRARS &1 JADT BT
oI BT |
What do you mean by Holding Company? How is it created?
IR HHT BT a7 31ef 2?7 ST AT {6 g BT 8°?
Distinguish between final divident and interim divident.
3~ TR SR J<IRA AR H <R BINTY |
Singhania Co. Ltd had 1,00,000 equity shares of Rs 100 each and 50,000 preference shares of
Rs 100 each. These shares were fully paid. The Company had accumulated a loss of Rs
20,00,000. The amount of Goodwill was Rs 5,00,000. Under a scheme of reconstruction share
holders agreed to reduce the paid up value of their shares by Rs 20 each. The accumulated loss
and goodwill were written off. Pass Journal Entries in the book of the Company.

Ryenfar =T o0 & 99 100 o dTl 1,00,000 THAT IF; 3R 100 Bo dTel 50,000
g R 3 & | A JAT 3 qoi gaxT o | HEAl Bl Hebford I 20,00,000 o i R
7 5,00,000 Fo T T |

YT BT ATSTAT D TG JREMRAT 7 32 & Yaxd Jod H ¥ 20 . Ul 37T B
WY AW IR &A1 | Faford 1+ ok @i sfalRad &R Ay U | Hwel & g&is o
Sd @1 ufaftedt Iy |

X Ltd and Y Ltd. agree to amalgamate. Their respective Balance Sheets are as follows :-

X fe10 3R Y folo vaiaror & foru \edd 8l ® | S9! anfde fagr f=felad & —

Capital & Liabilities X Ltd. Rs | YLtd. Rs | Assets X Ltd. Rs | YLtd. Rs
Subscribed Capital 1,00,000 shares Plant

of Re 1 cach fully paid 1,00,000 24,000 19,000

40,000 shares of Rs 2 each fully paid 80,000 | Patterns 2,500 1,800

Stock 14,500 15,200

Debtors 18,000 16,000

Reserve 10,000 15,000 | Bills Receivable 2,000 1,400

Sundry Creditors 3,000 1,000 | Cash 4,000 2,600

Profit & Loss A/C 2,000 5,000 | Land & Building 50,000 45,000

1,15,000 1,01,000 1,15,000 10,01,00

Prior to amalgamation a dividend of 2% is to be paid to the share holders of X Ltd. and assets

of both companies are taken at book value. State the proportion of shares to be received by the
Share holders of old companies in the New Co. and draft a Balance Sheet of the amalgamated
company.

THIHROT I g4 X Ltd. & Rl & 19 2% A™Ie HI [GaR0r S=A1 2 AR ST el
D FHREAT B JIHIT Jed W ol Sdr & | 740 S § R SRl D AR {6y
U H 3T UTG HXI? bl H¥=i1 bl 3 fHrgT T dIR SNy |

Following are the balances in the books of Universal Fire Insurance Co. as on 31st March,
2015. You are required to prepare Revenue A/c after taking into consideration additional
informations for the year ending 31st March, 2015.

P.T.O.



10.

31 H9, 2015 BT JHada AT 97 SUT BT gD H Wifhd W o | erfdRed
ATSAT BT A H @A §U 31 AME, 2015 DI FHG qY D [T IMMUDT Yd=g WIel
IR &R © |

Rs.

Re-insurance premium (g:l'sﬁ'HT D)) 1,00,000
Reserve for unexpired risk 01.04.2014

(@rawT< STiReH & forg wffa 01.04.2014) 16,48,000
Management Expenses (M9¢] <) 2,50,000
Premium received (U1l WITATH) 15,78,000
Commission (®HTM) 3,04,000
Claims paid (STdT T YTAT) 4,42,000
Loss on Exchange (faf<# a1 R g1fA) 18,400
Outstanding claims 01.04.2014 (37<T GTd 01.04.2014) 5,62,000
Additional Reserve for unexpired r.isk 01.04.2014 40.000
(ramTa SiRed & fory ifaRad |93 01.04.2014) ’

Additional informations (@R Fa=m) -
(a) Provide 50% of the premium for unexpired risk.

AT SR & foly WA BT 50% e HITY |
(b) Increase additional reserve for unexpired risk by 10% of net premium.

g WNIH & 10% A e Sikes & foy sifaRed d=g o gfg @r <oy |
(c) Outstanding Premium 31.03.2015 (31.03.2015 @I 3 WIfAgH)  Rs. 3,00,000
(d) Outstanding Claims 31.03.2015 (31.03.2015 @I 37&< <) Rs. 6,74,000
() Commission earned on re-insurance (JA4MT UR 3ffSid HHEE)  Rs. 10,000
Write note on any Two of the following. (Fr=ferRad # &1 f=gi a1 W fewol faRay) —
(a) Redemption of Debentures (EUT—931 BT 2TE)
(b) Holding Company ({&IRI &u)
(c) Preferential Creditors (J@if&ihR oFGR)
The Balance Sheet of X Ltd. as on 31.03.2016 has a follows.
XY fofo &1 fI€3T 31,/03 /2016 BT FrferRad o |

Share Capital Rs. Rs.
8,000 Pref.Shares of Rs. 10 each 80,000
(8,000 FATE®HR 3T URAH 10350 dTaAI) Land and Building 25,000
12,000 Equity Shares of Rs. 10 each 1,20,000 (ﬂiﬁ g ¥d¥)
(12,000 FHAT 37 UIh 10%o dTell) Other Fixed Assests 2,00,000
Bank Loan (§& o) 4,00,000 | (3rg 3rgel AR
8% Debenture (8% 70T UH) 1,00,000 | Stock (¥<f) 5,25,000
Interest outstanding on Debenture 8,000 | Debtors (@TR) 1,00,000
(30T g=f TR 3ra <Tol) Profit and Loss A/c 58,000
Creditors (eER) 2,00,000 | (&7 wq =1fy @ Te)

9,08,000 9,08,000

The Company went into liquidation on that date. Prepare Liquidator’s final statement of
account by taking into account the following:
9 &7 R BT FHOA 31T | FITha 1 &9 H @R RS 6T S(f~q fdaRor w@ren
ERIENY
(1) Liquidation expenses and Liquidator’s remuneration amounted to Rs. 2500 and Rs.
10,500 respectively.
aR®s @9 iR FRaR® TR#Ife HHer 2500 Fo 3R 10500 Fo & |
(2) Bank loan was secured by pladge of stock. (¥ 0T ¥fd &I Rl gRT Ied & )
(3) Debentures and interest thereon are secured by a floating charges on all assets.
FOOA U4 39 W &1 & forg 9l FrafiEl W) g IR 7 |
(4) Fixed assets were realised at book values and current assets at 80% of book values.
IR FHRRT QRAD Jed IR AR dre], ARl Q&I 4o & 80: WR agel &I Tl
g

oS



Nalanda Open University

Annual Examination - 2019
B.Com (Honours), Part-II
Paper-1V (Business Law)
Time: 3.00 Hrs. Full Marks: 80
Answer any Five questions. All questions carry equal marks.
fop=gl dfer ge=l & SR ARTY | | gl & 3jb A € |
1. What do you understand by bailment? Throw light on the rights and duties of a bailor.
e | o9 T FHeId 87 Udh Metud<l & JARSHRI Ud dadl IR YBRT STery |

2. What is partnership deed? Describe its contents.
ARRER o™ &1 57 39! [AvI—dm il &7 auie By |

3. Describe the duties and liabilities of railway as a public carrier.

TSI 8D & WU H YeId & Bl gad aIfdcdl &1 quid DIy |

4.  What is cheque? What are its types? Under what circumstances can a banker refuse to make
payment of the cheque?

I 9T 87 Y8 fba- FHR b1 Bl &7 fba yRRfGAT § U dar b &1 Yadre &R |

STHR B Ahdl 87

5. Explain the duties of an insolvent person.

U feITforar & wadl &l ARAT BT |

6.  What do you understand by free consent? Under what Circumstances the Consent is not free?
Explain.
wWAd FEAfd W Iy T FHsd &7 fha uRRefal # weafd wda @ el 57 @mRan
BIFSTY |

7. Who is an unpaid seller? Describe his rights.
e fashar dF 2° D ARBRI BT qUiF BT |

8. How a Firm gets registered? Is registration mandatory? What are the effects of non-
registration? Explain.

B B IRGIE fha UHR Bar 87 a1 IRRgeH Afard 87 IRRGIE 98 aRE & FA
LI A

9.  What is the difference between private Carrier and public carrier? Describe the liabilities of
public carrier.

Ao ared 3R ATdWIH® dI8d H 9T <X &7 ATdui~Td digd & Il Bl g BHIfoT |

10. Who can be adjudged an insolvent? What are the disqualifications of an insolvent? Explain.

fore fearforar enf¥a fham < Godr 8?7 o fearferar &) SRIdaN &Iy 87 ARAT HIfoY |

G oErGd

Examination Programme-2019
B.Com (Part-II) Honours

Date Papers Time Examination Centre
28/5/2019 | (Honours) Paper- III | 8toll A.M | Nalanda Open University, Patna
30/5/2019 | (Honours) Paper- IV | 8toll A.M | Nalanda Open University, Patna
01/6/2019 | Rashtrbhasha 100 M or | 8toll A.M | Nalanda Open University, Patna
Urdu 50 + Hindi 50 M
03/6/2019 | (Subsidiary) Paper -III | 8 tol1 A.M | Nalanda Open University, Patna
05/6/2019 | (Subsidiary) Paper -IV | 8toll A.M | Nalanda Open University, Patna




Nalanda Open University
Annual Examination - 2019

B.Com (Subsidiary), Part-II

Paper-III (Economic Development of India and Planning)
Time: 3.00 Hrs. Full Marks: 80
Answer any Five questzons All questions carry equal marks.

fr=gl dfg uedl & SR SIRTT | F491 U1 & 3fdh I © |

1. Discuss the problems of small-scale industries and their remedies.

TAY—TEUN B FEIRIT 3R 9D ISUARI DI fId==T BITY |

2.  Describe the main sources of industrial finance.

el fad & U9 Al &1 9o BITY |

3. What is Social Security? Explain its objectives.

AT GREAT T 2° 39D S8l Bl ARAT HITY |

4.  Explain the present position and problems of Indian Iron & Steel Industry or Cement Industry.
ARG @lg TaH ST ST IfaT e TR & aaA RAfd taq I\l & R
BITY |

5. Explain the industrial policy of 1991 in the context of economic reforms in India.

1991 @1 3ieNfres N &7 e vRa # anfdie gurRl & ded § SISy |

6.  Describe the sources of agricultural finance.

SRR & G B v AR |

7. What do you understand by mixed economy? Is Indian economy a mixed economy? Discuss
its merits and demerits.

Af¥a srefcgawer 9 MU T GHsId 80 R IRAY JfdegaRe e g sfagwer 87
SHD UGN I [Gq=@r HIfeTg |

8.  Explain land reform programmes in India. To what extent it has been successful?
IRA H Y[ GUR BRIBA BT IRAT DIY | I8 b9 88 dP Thel g3l o7

9.  What is green revolution? What are its essential elements? Make a review of the success of
green revolution in India.

BRI Hifd T B? TP IMEIIDH dd KT &7 YR H BRA Hifd B AheIdl Bl FHET
PINTT |

10. What is economic planning? Explain its objectives.

arfefer RIS T 87 39 Segdl & AT S |

oSS



Nalanda Open University
Annual Examination - 2019

B.Com (Subsidiary), Part-II

Paper-1V (Money & Banking)
Time: 3.00 Hrs. Full Marks: 80
Answer any Five questions. All questions carry equal marks.

fregl dfg uedl & SR SAIRIT | F91 U1 & 3 I © |

1. Explain critically the quantity theory of money propounded by Fisher.
fheR & FET—uRATT RHGId BT D AT DIFTY |

2. What is inflation? Discuss its effects on different classes of society.

AT RIT 827 TG & (A= a1 TR g6 J41al B fJaa=T Sy |

3. What is index number? Describe the method of preparing index number.

fordenias @ar 27 fadere fafor & fafr &1 avfa A |

4.  Describe the functions of a commercial bank.

U ATIARIG db b Braf &l qoia HIU |

5. What do you mean by credit control? Explain various methods of controlling credit.

IRg fFREF ¥ uer wr I 2? Wy fEEer @ A At e wre
HITT |

6.  Define money and explain its nature.

gl o1 aRATST SIfSY ToIT JoT &1 W9Id gd1sq |

7.  How does a commercial bank create credit?

U AT db b YR ARG BT ol PRl 27

8.  Describe the functions of central bank.
Helg 9b b BT BT gUIT BIfOTT |

9. What do you understand by Branch Banking? Explain its advantages and disadvantages.
IRAT AT A 37U T T3 &7 $9D 9 TaH BT @] ARAT DIFTY |

10. Write note on any two of the following:
frforRea @ 9 f=gl a1 wR fewoft forRag
(a) Credit Control (g ==y
(b) International Monetary Fund (IMF) (3IRISEII H&T—ahI)

(c) Paper money (T=—HgI)



Nalanda Open University

Annual Examination - 2019
B.Com (Honours), Part-II
Paper-1V (Business Law)
Time: 3.00 Hrs. Full Marks: 80
Answer any Five questions. All questions carry equal marks.
fop=gl dfer ge=l & SR ARTY | | gl & 3jb A € |
1. What do you understand by bailment? Throw light on the rights and duties of a bailor.
8T | 3T R |HS 2° U (Merushell & BRI Ud el UR U STely |

2. What is partnership deed? Describe its contents.
ARRER o™ &1 57 39! [AvI—dm il &7 auie By |

3. Describe the duties and liabilities of railway as a public carrier.

ATl 8D & WU H YeId & bl gad aIfdcdl &1 quid DIy |

4.  What is cheque? What are its types? Under what circumstances can a banker refuse to make
payment of the cheque?

I T 87 Y8 fba- FbR b1 Bl &7 fba IRRfGAT § U dar db &1 Yudr &R |

STHR B Ahdl 87

5. Explain the duties of an insolvent person.

U feITforar & wadl &l ARAT BT |

6.  What do you understand by free consent? Under what Circumstances the Consent is not free?
Explain.
WA FEAfd W oMU T FHsd &° fha uRRefdl # weAfd wda @ ekl 37 @man
BIFSTY |

7. Who is an unpaid seller? Describe his rights.
e fashar dF 2° D ARBRI BT qUiF BT |

8. How a Firm gets registered? Is registration mandatory? What are the effects of non-
registration? Explain.

B B IRGIE fha UHR Bar 87 a1 IRRgeH Afard 87 IRRGIE 98 aRE & FA
LI A

9.  What is the difference between private Carrier and public carrier? Describe the liabilities of
public carrier.

Ao ared 3R ATdWI—® aI8d H 9T <X &7 ATdui~Tdh digd & STl Bl g BHIfoT |

10. Who can be adjudged an insolvent? What are the disqualifications of an insolvent? Explain.

fore fearforar anf¥a fham o Godr 82 o fearferar &) SRIdN &Iy 87 ARAT HIfY |

G oErGd



Nalanda Open University
Annual Examination - 2019
B.Com (Honours), Part-III
Paper-V (Cost Accounting)

Time: 3.00 Hrs. Full Marks: 80

Answer any Five questions. All questions carry equal marks.
feb=gl dfe gel & SR <Y | &t 9o & i q4H € |
(Standard Calculator is allowed)
What do you understand by incentive plan of wage payment? Explain different methods of
incentive wage payment.

UTRSIHS I BT URUCHD ATST A AT FIT AHSK &7 IRUITHAD UTRSHS Y B
fafer=1 faferal &) s Iy |

What is contract costing? For which enterprises it is appropriate? Give an illustration of
contract account.

ool URSTHT T 7 | I8 b Sedl & fou Sugad &7 S&T WAl & TAT IRda
BIFTY |

Describe various overheads. What are the methods of allocating factory overhead?

a1 SuRAT &1 9uiF FHIRT | FRETT IR & AR H PH—HF 1 fafedr 22
Define cost accounting. How does it differ from financial accounting?

AT AGih &l IRYINT HIfse | focig oeies 9 I8 fo9 yeR a1 8 ?

How would you calculate profit on incomplete contract under varying Circumstances? Give
examples.

gl aRRfadl # el 3% W @™ @1 UM MY fhd UBR aNl ? SRS © |

What can be the causes of difference in the profit shown by cost account and financial
account? How would you reconcile this difference?

ANTT T IR o< o T gRT UsiSd i & <R & T BRI 8 Jdhd & 2 39 <N
&1 I 39 fh UhR H ?

The following three jobs were completed in the week ending 7™ march 2016. Compute the
total cost by preparing a statement of cost with the information given below.

7 A 2016 HI AT AwE H @feRad 09 Sy R fFd W | sufeRad @ 9
AT fAaRUI—UF g91R Gl NI ST DI |

JobNo.1 | Job.No-2 | Job No-3

Rs. Rs. Rs.
Direct Material (Y&t ATHIT) 1,000 1,200 3,200
Direct Labour (el #1H) 800 900 1,200
Direct Expenses (Icdel <9) 200 300 300

Charge works overhead @ 50% on direct labour and office overhead @10% on works cost.
What shall be the job price if 10% profit is desired on the supply price?
U M WX 500 BREFT SURGY a6l DIGY TAT SREFT URII TR 100 B

IuReT =16l BTG | IS AE—Hed TR 10: AT o1 81 Ol UG oI T BHIT?

From the following particulars prepare-

fFrfeRad faaRor 9 TR BifoTe—

(a) Statement of cost of Manufacture for the year 2011
2011 & IATEH B URGFY fqaRo—u=

(b) A statement of profit as per cost Account?
IRE oY & AR AR BT [qaRo—ux

(c) Profit & Loss Account as per financial books
i qedal & IR oM 1 g1 |

(d) Reconciliation statement

RIS EERYI




10.

Rs

Hedl AU BT hY Purchase of raw Materials 43,200
BRI Wages 18,000
g ¥l Opening stock:

Bl AT Raw Materials 7,200
fafia A Finished goods 14,400
I el Stock at end:

Bl AT Raw Materials 10,800
fafia A Finished goods 3,600

Calculate factory overhead at 20% on prime cost and office overhead at 80% on factory
overhead. Actual works expenses amounted to Rs.11,350 and actual office expenses amounted
to Rs.9,290. The selling price was fixed at 20% above cost price.

DR IURSY, T IR WR 20: TR TAl BRI IURSY, HREMN IURTIT WR
80% TR | AR<dH SR T 11,350 To TAT ARAAD BRI T 9290 wo TY |
g g amTa # 20% SirsaR Fraa fbar war |

Account of a manufacturing company showed the following details for the year 2012 :-

Rs.
Materials used 8,75,000.00
Wages 6,75,000.00
Works overhead expenditure 1,85,625.00
Establishment and general expenses 1,16,250.00

Show the works cost and total cost, the percentage that the works overhead bears to the wages
and the perentage that the establishment and general expenses bear to the works cost.

What price should the company quote to manufacture a machine which would require an
expenditure of Rs. 7,500 on material and Rs. 6,000 on wages. So that it may yield a profit of
25% on the total cost or 20% on the selling price ?

T AT BRI & oRal Y Il [9aRor 2012 & o9 wiTe gu—

Yo
TN &l T ArEfy 8,75,000.00
LSES 6,75,000.00
PRI T 1,85,625.00
AT Ud A Y 1,16,250.00

BREFT AN 3R FHel oANTd [dlel dAT HREM] FT I Folgel & A1 gfaerd ud
RITAAT T A @RI ) RG] AN B el gfverd Fret |

T HEF BT 9 & o) a1 did dee FgiRa Sl f579 iR 7,500 To o AFT 3R
6,000 Yo AT TR I BN AR el AN WR 25% AT Gl Hed W 20% o BIIT?
From the following particulars, prepare a production account for the year ending 31st
December, 2012. Showing (a) The Prime Cost (b) The Works Cost (c) The total Cost of
Production (d) The cost of goods sold (e) The gross profit (f) The net profit :-

Rs.
Direct wages 5,000.00
Indirect wages 300.00
Stock of raw material on 1 January, 2012 7,000.00
Purchase of raw materials 3,000.00
Closing stock of raw materials 2,000.00
Opening stock of finished goods 1,000.00
Closing stock of finished goods 500.00
Sales expenses 100.00
Sales Commission 200.00
Works expenses 800.00
Office expenses 500.00
Office Rent 100.00
Sales 18,000.00
Advertising 50.00
Depreciation on Plant & Machinery 40.00




31 femR, 2012 &1 AT 8 a1l a¥ & forv fAifdhd faarer & Saures @rar 9918y 3R

AT BITSTY —

Yo
EREIRSER 5,000.00
SRR 300.00
1 SHER], 2012 DT Bl AT BT ST 7,000.00
H AU BT BT 3,000.00
Bl AT BT Sff~dH Eform 2,000.00
fAfg 91 &1 uRfAre sfaar 1,000.00
fafa arem &1 tfaw <o 500.00
o =g 100.00
IEEARC L] 200.00
PREMET I 800.00
BT I 500.00
BT fhvmar 100.00
IGER 18,000.00
IEEIEE! 50.00
e 3R 7 W B 40.00
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Nalanda Open University
Annual Examination - 2019
B.Com (Honours), Part-III
Paper-VI (Management Accounting)

Time: 3.00 Hrs. Full Marks: 80

Answer any Five questions. All questions carry equal marks.
=gl dia geal & SR ARG | |1 ool & 3 9 § |
(Standard Calculator is allowed)
Define management accounting. How does it differ from financial accounting?
gDy @—fafer B gREmer < | faxii sl 9 ¥g 9 ger A= €7
What do you mean by Cash flow Statement? How is it prepared? Give example.
JAPps Jare faaRor | MuydT R YT 87 I8 fhd TR IR fHar Sirar 87 SerexeT © |
What is ratio analysis? What are its advantages? Throw light on the limitations of ratio
analysis.
JFUTT faelyor T 87 $HG T ¥ ©° JAJUTT [deeivor &1 HAHmi UR UehTel STl |
Write note on any Two of the following.
Feferfad & & fd-gl a1 o fewof ford |
(a) (Break-even point) HA—fd=q fa=g (b) (Proprietors’ Fund) Wi &1 &Y
(c) (Fund flow statement) ®HIY—Yarg faaor
The balance sheets of X Ltd., at the end of 2011 and 2012 are as under:-
Y 2011 G 2012 & T H Xld & g 4 UBR -

2011 2012 2011 2012

Share Capital  10,00,000  16,00,000 Fixed Assets 5,00,000  6,00,000
Reserve 3,00,000 4,00,000 Investment 2,00,000  3,00,000
Bond 1,00,000  .............. Cash 3,00,000  2,00,000
Bank Loan 3,00,000 2,50,000 Debtors 3,00,000  4,00,000
Bills Payable 1,00,000 1,50,000 Bills Receivable ~ 2,00,000 1,00,000
Creditors 2,00,000 1,00,000 Stock 5,00,000  9,00,000

20,00,000 25,00,000 20,00,000 25,00,000

In 2012 the net Profit after tax were Rs. 1,00,000 which are credited to reserve. In the same
year, a provision of Rs. 50,000 was made for depreciation on fixed assets. Prepare Cash-flow
statement.

2012 H R °CH @ 91 Y& ™ 1,00,000 F0 BT AT o7 Feg # oA o= fear |
S 9Y A1 FURKRT TR BT & BU H 50,000 W0 BT TR fhar AT | Abs—dgd faaxor
IR BT |

The Balance sheets of Bright Ltd. at the end 0of 2011 and 2012 are as follows :

sTsc fofo @7 2011 3R 2012 & 3rq@T & focer fsaq ®

Balance Sheet

Capital & Liabilities : Rs. 2011 Rs. 2012
Pref. Share Capital (31941 321 gail) | 70,000 75,000
Equity Share Capital (F9d1 3i31 goil) 1,30,000 1,75,000
Creditors (FgR) 1,00,000 70,000
P/L A/c. (@mH—28TH @) 20,000 30,000
3,20,000 3,50,000
Assets :
Plant & Machinery (&3 Ud #2ii) 50,000 60,000
Furniture (SU%hY) 20,000 75,000
Stock (¥h=e]) 80,000 50,000
Debtors (GER) 70,000 85,000
Cash RT®<) 1,00,000 80,000

3,20,000 3,50,000




You are required to prepare a statement of working capital changes and fund flow statement
from the above informations.

SUYeFT GAARI ® AR R RS goil § ulRadd &1 f[davo 3R By gars f[qavor dar
I |

7. Following is the profit and loss A/c of Prabha Private Ltd. for the year ending 31st December, 2015
31 faT=R, 2015 & TG & aTel 99 & fog 991 u1gde fofo ami—a1 @mar fraq &—
Trading and Profit and Loss Account
(For the year ending 31st December, 2015)
Particulars Amount Particulars Amount
Rs Rs.
To Opening Stock (IRf¥& efcram) 7,625 | By Sales (fds3) 50,000
To Purchases (:3) 31,525 | By Closing Stock (ifce zzferm) 9,850
To Carrtage (1) 200
To Wage (Forgd) 500
To Gross profit C/d (det o) 20,000
59,850 59850
To Office Expenses (rfera @) 10,100 | By Gross profit b/d (#eef o) 20,000
To Interest () 120 | By Non-operating In.come: (R—<aTer 3ma):
To Discount (ge) 240 | By In_te_rest on Security (;rﬁ&t%‘r_ T W m) 150
To Bad debt (mmer %) 340 | By Divident on Shares (3fif w AT 375
To Selling Expenses (R 1) 1,200 | By Profit on Sale of Shares (i@ & faswa = @m) 75
To Non-operating Expenses ({R—wdTe &3):
To Loss on Sale of Securities @Rt & fama w =) 35
To Provision for legal suit (@ a8 =g Waem) 165
To Net Profit (g ™) 8400
20,600 20,600

You are required to calculate ((TOFT @ITTT):—

10.

(a)  Gross Profit Ratio (A&l & 31JUrd)  (b) Net Profit Ratio (g ™ 3170Tq)

(c)  Operation Ratio (FdTel 31JUTd) (d) Stock Turnover Ratio (¥ 3fTa<i 37UTa)
From the following Balance Sheet of Moon Ltd. as on 31st December, 2015 you are required
to calculate :

(i) Liquidity Ratio (i) Solvency Ratio
(iii) Debt Equity Ratio and (iv)  The amount of Capital Employed
31 fau=R, 2014 & ¥ o & anfleh I W U TUMT B! 2
(i) R U (i) S &aT Ut
(iii) FHAT U 3R (iv) T goft @ i
Balance Sheet as on 31st December, 2015
Capital & Liabilities Amount ° Assets Amount °
Share Capital 10,00,000 Fixed assets 9,00,000
Long-term Debt 5,00,000 Current assets 8,00,000
Current Liabilities 2,00,000
17,00,000 17,00,000

Explain the characteristics of management accounting and throw light on its utility and importance.
T @Al @I faRyarsi @ @RT BT dol $dS! SUIIAT Td Heed TR Tl
STfeTy |

What is break-even point? Explain the assumptions and limitations of break-even analysis.
F—faeeg fdg @ar 27 A9—Taweg fIeelyor & ARl gd |Hsl &1 ARAT B |
oGroGreGs



Nalanda Open University
Annual Examination - 2019
B.Com (Honours), Part-III
Paper-VII (Taxation Law & Accounts)

Time: 3.00 Hrs. Full Marks: 80

Answer any Five questions. All questions carry equal marks.
fohel dfa uel & SR ATY | 0 yeei & 3 a9 € |
(Standard Calculator is Allowed)

Explain any ten taxable Income under the 'head' Income from other Sources.'

Y ARHN I M IM¥B B =T fhal T =AY M BT ARAT BT |

What is meant by annual value of house property? Explain its valuation under different
circumstances. What deductions are allowed under the head ‘Income from house property’?

AHM FHRT & qive Jed BT a1 A 77 A= aRRefcRl § s o &1 ar=An
DITY | HBH FHRT A A 2Nh H BI—dI= Al Belfadl Wihd B Sl &7

Mention ten such Incomes which are neither included in the total Income nor Tax is levied on
them.

U S N BT Ioold DI S 9 AT el 3T H WA B ST § 3R 7 8 39 W IR
SUGHE

What do you understand by gross total income and total income? How total income in
Calculated?

TUhel el AT 3R Fel A 3T T AASK 87 ol AT B TUFT [bd YbR B el
=

Define allowance. Describe income tax provisions in respect of various types of allowances

I o1 gR¥TT IRTT | AT JR & 9l A FdfSd smi—aR gTael b1 goiF I |
Write note on any two of the following:-

srenforiad & 4 fbgl a1 R fewoft fafay |

(a) Previous Year (7 dH)

(b) Capital Gains (JSfT &m9)

(c) Profit in Lien of Salary (09 & I WR <)

What are the kinds of perquisites? Mention taxable perquisites and explain the rules relating to
two of them.

I e UBR & B 87 PR—IRY AJAMI Bl Ioeld dIfoly 3R I79 4 el ar 4
HafeT FraHl & ARAr BT |
Compute taxable income from house property from the following:-

frforRad fAaRor 9 gp—wuRT W 3 MG B B AT 3T Bl 0T BT |

Particulars Rs.
Fair Market Value (SfId aT9TR He) 80,000
Actual Rent (@=<fde ura fab=mm) 72,000
Municipal Valuation (VU Hedie) 50,000
Standard Rent (A& fd=Ta) 60,000
Municipal Taxes (R0 <o) 20%
Interest Paid (&5 &1 Y1) 18,000




10.

Mr. A provides the following data regarding his transactionfor the sale of his residential house
for assessment year 2014-2015. Compute the amount of Capital Gains to be included in the
total income for the assessment year 2014-2015.

0 | BR—ERoT ad 2014—2015 & foIU 3fue ReRRN #b™D! 997 & FGeR & dael H
=T faaRoT IRgd &_d § | BR—TTaReT ay 2014—2015 & oIy el oM # wnfed g dtel
Y€ Yol o™ @1 0T HITY |

Particulars Rs.

House Purchased in 1984-85

g 4,00,000
(1984—85 H H&HT W)
Sold in November, 2013
(FawR, 2013 # 99 ) 40,00,000
Purchased another house in September, 2013
(TP o He RidwR 2013 § @) 6,50,000
Deposited in the Capital Gains Account

. 4,00,000

Scheme, 1988 in January 2014
(STaY, 2014 H USI @™ @TAT JISTA1, 1988 H ST o)

The cost inflation index for 1984-85 and 2013-2014 was 125 and 852 respectively.
1984—85 TAT 2013—2014 BT FhIfd ﬁﬂ$$ hHIT: 125 TAT 852 AT |

A, a bank manager, gets Rs. 18,000 per month as salary and dearness allowance at 10 percent
at the salary. He is getting entertainment allowance at Rs. 8,000 p.a. During the previous year
ended 31st March, 2015, he received a bonus equal to three months salary. He is also provided
with a rent-free house (unfurnished) in a town (whose population is less than four lakh) the
fair rent of that house is Rs. 5,000 per month. Find out his income under the head 'Salaries' for
the Assessment year 2015-2016.

UH §b & HIoR fReX A @I 18,000 w0 UfT A8 Ia< TAT dad &I 10% Hes 9T e
RET 2 | I 8,000 W0 U a¥ HARGH WAl Al R8T § | 31 A€ 2015 Pl FAQ 8 drel
TT I H I AF A8 D dad B XX 99 e | S TS d (Rl S9aEr aR
AT W P 7) H [P F gad U SRIARSIT 81 BT A Al AT g3 2 Rt Sfed
fbRram, 5000 w0 ufcr A8 € | BR FERr 99 2015—2016 & foy ‘a1 e H amy @
T BT |
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Nalanda Open University
Annual Examination - 2019
B.Com (Honours), Part-III

Paper-VIII (Business Statistics and Business Mathematics)
Time: 3.00 Hrs. Full Marks: 80
Answer any Five questions, selecting atleast Two from each group.
All questions carry equal marks. Calculator is allowed.

RIS e H A HHA—U—DHH & UeAl BT g9 B gy Urd yedl & IR SISy |
Tyl B 3 A B |
(Standard Calculator is Allowed)
Group - A (7S — 3])
1. (a) What is the number of terms in the series 5,7,9,... if its sum is 10207?

ot 57,9,.. & fbd= Uql &I IRT 1020 BRTT?

(b) The arithmetic mean between two numbers exceeds their geometric

mean by 2 and geometric mean exceeds the harmonic mean by 1%.

Find the numbers.

&1 A3 BT HoHlo I oHo ¥ 2 3f&dh & doll UIKR Hred, BcHD el
¥ 12 @ ey s AR

2. (a) If P4 = 12x 1Pz then find the value of n.
qfE 4P4 = 12x OP2 Al n BT A9 AT DI |

(b) Find the term Independent of xin the following expansion:

25
(sz - x—ij

(zxz_%fzmwﬁquaﬁwm |

X
3. Fz'nd% if:  (a) y = x°.log(2x) (b) y=(1+x2)7
X

4.  (a) If n arithmetic means be Inserted between 1 and 100 such that third
mean : eight mean = 2 : 5 find the value of n.

1 AT 100 & M n FHAR HHAM & Sidih AN dAT 1S HedAT BT AT
2 d9T1 5 & UM & aRIER & Al DI A9 S DISTY |

(b) The third term of a G.P is 12 and 6th term is 96. Find the sum of
nine terms.

Bl oo BT A UT 12 ToIl BSdl UG 96 & ol Al Y&l Bl AN ST DI |
5. (a) Prove that (Rig ®HINQ) : 2P, = 8- 1P+ rx 2-1p,_;4

(b) From 7 gentleman and 4 ladies a committee of 5 is to be formed. In
how many ways can this be done, so as to include atleast one lady?

7 ool TT 4 HARARN F 5 AR & HHIC g9 © | IS FA—9—FH D
AT BT A HRAT &, T Ig HAHIC! fbe TR A R ST Fhal & |



Group - B (7S — §)
What is Questionnaire? What are essentials of a good questionnaire?

geTaell T 57 Qb ¥ UIAdell & T 3Maedd 0T 57

What is difference between census and sampling method.
O Ud ufoee H R/ eiR T

Find the median from the following data :

frforRad Tve! & AfegadT sma eIy |

i & 10 | 20 | 30 | 40 | 50 | 60 | 70 | 80 90
(Less than marks)
BT @ dE

5 15 | 98 | 202 | 367 | 405 | 425 | 438 | 489

(No. of students)

Calculates Mean Deviation and coefficient of Mean Deviation from
(median) from the following data :

CI | 5-15 | 15-25 | 25-35 | 35-45 | 45-55
f 6 9 15 14 6

10. Find the first quartile, second quartile and third quartile from the
following data :

fFreferRaa sifeel A ved, fgeia ik Jairg aqgeie =i B
07, 32, 39, 20, 15, 45, 35, 12, 08, 22, 25, 02, 26, 28, 42

G oErGd
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